Clustering Coefficient

TOM with the Hub Node

0.10 0.20 0.30

0.00

0.1 0.2 0.3 0.4

0.0

p=7, R"2=0.82

I I I I I I
0.05 0.10 0.15 0.20 0.25 0.30

(1+Heterogeneity*2)"2*Density

p=7, R*2=0.81

I I I I
0.1 0.2 0.3 0.4

(Centralization+Density)*(1+Heterogeneity"2)

Clustering Coefficient

TOM with the Hub Node

04 06 08 1.0

0.2

0.0

02 04 06 038 1.0

0.0

tau=0.65, R"2=0.6

I I I I
0.2 0.4 0.6 0.8

(1+Heterogeneity*2)"2*Density

tau=0.65, R"*"2=0.74

I I I I
0.4 0.6 0.8 1.0

(Centralization+Density)*(1+Heterogeneity"2)



